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PHYSICS

1. The value of acceleration due to 5. A sphere, a cube and a thin circular
gravity at a height of 10 km from the plate all of same material and same
surface of earth is x. At what depth mass initially heated to same high
inside the earth is the value of the temperature are allowed to cool down
acceleration due to gravity has the under similar conditions. Then the
same value x ? (A) plate will cool the fastest and
(A) Skm (B) 20km cube the slowest.

(C) 10km (D) 15km (B) sphere will cool the fastest and
cube the slowest.

2. Young’s modulus of a perfect rigid (C) plate will cool the fastest and
body is sphere the slowest.

(A) zero (D) cube will cool the fastest and

(B) unity plate the slowest.

(C) infinity

(D) between zero and unity 6. In an adiabatic expansion of an ideal
gas the product of pressure and -~

3. A wheel starting from rest gains an volume.
angular velocity of 10 rad/s after (A) Decreases
uniformly accelerated for 5 sec. The (B) Increases
total angle through which it has turned :
is (C) Remains constant
(A) 25rad (D) At first increases and then

decreases
(B) 100 rad
{5 A0 7. A certain amount of heat energy is
(D) 507 rad about a vegtical axis supplied to a monoatomic ideal gas
Lt = which expands at constant pressure.

4. Iceberg floats in water with part of it What fraction of the heat energy is
submerged. What is the fraction of the converted into work ?
volume of iceberg submerged if the 2
density of ice is p, = 0.917 g em™ ? (A) 1 (B) 3
(A) 0917 (B) 1 © ;5!_ D) %

(C) 0.458 (D) 0
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10.

8. A tray of mass 12 kg is supported by A point charge ‘q’ is placed at the
hateact . h : corner of a cube of side *a’ as shown in
Mo sprmgs. (e the figure. What is the electric flux
figure. When the tray is pressed down through the face ABCD ?
slightly and then released, it executes 2 C
SHM with a time period of 1.5 s. The % .
spring constant of each spring is 2
12 kg < oy :
H G
S RS
(A) 0 ®) 4o
! o |
Ll PR s
(A) 50Nm™! ;
B) 0 11. The electric field lines on the left have
twice the separation on those on the
(C) 105 Nm-! right as shown in figure. If the
magnitude of the field at A is 40 Vm™!,
(D) = what is the force on 20 uC charge kept
atB?
v e i
9. A train whistling at constant frequency i . .
L - . e
n’ is moving towards a station at a (A) 4x 10~ Vm!
constant speed V. The train goes past a (B) 8x 10~ Vm-!
stationary observer on the station. The (C) 16x104Vm!
frequency ‘n’ of the sound as heard by (D) 1x10*Vm!
the observer is plotted as a function of
time ‘t’. Identify the correct curve 12. An infinitely long thin strt;:ght wire has
SR i uniform charge density of 7 x 102 cm™.
W L /\ What is the magnitude of electric field
at a distance 20 cm from the axis of the
g e o wire ?
ng np (A) 1.12x 108 NC!
gz, o8 8 NC-!
© | D) % (B) 4.5x10 ;\IC 1
(C), 225 x 10°NC
S ATE et (D) 9x108NC!
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13.

14.

15.

A dipole of dipole moment ‘P’ and
moment of inertia I is placed in a

-uniform electric field E If it is

displaced slightly from its stable
equilibrium position, the period of
oscillation of dipole is

iy
(A) \/—TE ®) 2m\[5E
1 P

The difference between equivalent
capacitances of two identical capacitors
connected in parallel to that in series is
6 uF. The value of capacitance of each
capacitor is
(A) 2pF
(C) 4pF

(B) 3uF
(D) 6uF

Figure shows three points A, B and C

in a region of uniform electric field E.
The line AB is perpendicular and BC is
parallel to the field lines. Then which
of the following holds good ? (V,, Vg

and V. represent the electric potential

at points A, B and C respectively)

%
%

b AR Ak

v Vv

(A) V,=Vp=V,
(B) V,=Ng >V,
(C) V,=Vg<V,
(D) V,>Vp=V,

16.

17.

18.

19.

When a soap bubble is charged ?

(A) Its radius increases.

(B) Its radius decreases.

(C) The radius remains the same.

(D) Its radius may increase or
decrease.

A hot filament liberates an electron
with zero initial velocity. The anode
potential is 1200 V. The speed of the
electron when it strikes the anode is
(A) 1.5x10°ms™!

(B) 2.5x10°ms™!

(C) 2.1 x10" ms™!

(D) 2.5x108ms™!

A metal rod of length 10 cm and a
rectangular cross-section of 1 cm x%cm is

connected to a battery across opposite
faces. The resistance will be
(A) maximum when the battery is

1
connected across 1 ¢cm x 5 cm

faces.
(B) maximum when the battery is

1
connected across 10 cm x 5 cm

faces.

(C) maximum when the battery is
connected across 10 cm x 1 cm
faces.

(D) same irrespective of the three
faces.

A car has a fresh storage battery
of em.f. 12 V and internal resistance
2 x 1072 Q. If the starter motor draws a
current of 80 A. Then the terminal
voltage when the starter is on is

(A) 12V (B) 84V

(C) 104V (D) 93V

Space For Rough Work
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20. A potentiometer has a uniform wire of 23. -V characteristic of a copper wire of
length 5 m. A battery of emf 10 V and length L and area of cross-section A is
negligible internal resistance s shown in figure. The slope of the curve
connected between its ends. A becomesl
secondary cell connected to the circuit
gives balancing length at 200 cm. The
emf of the secondary cell is
(A) 4V (B) 6V 0 2

(A) More if experiment is performed
€ 2v (D) 8V at higher temperature.
(B) More if a wire of steel of same

21. The colour code for a carbon resistor dlmen-smn is used. Tty
of resistance 0.28 kQ + 10% is (©) !_.ess if the area of the wire is

increased.
(A) Red, Grey, Brown, Silver (D) Less if the length of the wire is
(B) Red, Green, Brown, Silver increased. .
(C) Red, Grey, Silver, Silver
: 24. In the given figure, the magnetic field
(D) Red, Green, Silver at ‘O’

22. Each resistance in the given cubical I 0, >
network has resistance of 1 Q and 2 i
equivalent resistance between : and B is 3 _I- f*"_oI 3 l"o[ ﬁ’{

W 477 e P10 o
3B Kl 3HI Kl
© 8 r  4ur 8 r  4nmr
25. The magnetic field at the origin due to
a current element idl placed at a point
with vector position Tis
P s = =
@ e ® 20 @ B ki P
4n 4an
P - .
(©) %Q (D) 1539 © Mol dix T - Boi T xdl
4 12 4n 12
Space For Rough Work
Physics A-1




26.

R $%Q¢ womd vvgs evdd Zodod
Topes 1 IVTRL HT,F* TTkR0OIT.
[T T2 3, I oD BFOOT ‘1’

TR0 ERe0RS 3,
BJ

(A)

29.

30.

DR,T TFRLIZT FFO0T 2,080
oo RUPOD Feow, WOTDNTYOL
TOIYEF, T ©vuT wodecd OFH
WTIT STIY ‘X7 SNTOTT. woTH
Fed T TIE DI §H,[I
DTG Y B% STIY

(A) 2x (B) 4x
0 % ®) %

BATRACH NWHICDY, [WIRT  ToTF
03T,
(A) oo orond sodd AW

27. womd FBRR,ITI), Ip et (}H), B3, 2.
(-1
@o,5o0r* ((H) T8y o-seonivsy (He) (B)  T0ORPEFTION TONDS 0 4303
Serlpe3mr TRTLD WINSINS. TN e0TiEd FRTTRE ToSeod AT
T I, %&Q‘b@q BRT wTn oIRFP T, BRoOTZS.
30 oIz (K.E.) oD neadss ? (C) BrRRTIED TBFason TN,
(A) a-8 (D) BRHITIL TOTRroF TN
(B) i TOTONTIS.
(C) @,toox
(D) Q5ER ot BoTBY 31. 2 m gy XoWw 5 msT! =ITY, B
NS U DY BoeoAHB[OB 2,00
128, O WW00E03CD  WRTOCLIY, ‘ BODTOTOT TOTE WPBLTY, I
06 T wmmod g3, D 4 K ©Q,0.04 T Z0ted T0SFEFY W33
owFgobe, woAmn 8 Am-) RIOE LOWTHNIE. oV BreryY
?O3BONRRy  Beomodd.  wede 3 Quud, ©nog, TFILRT AT
SRTOORY 0.2 T 1%, 5203863, T3 R e # SN
16 K evf 3@ adAmoN 5w Beomds OB e g | o A% % R
Fo03eBTED WO ? v 2m
o x X o x x x
(A) §§2'Am‘1 (B) %Am‘l R R
; 1 (A) 75mA (B) 133mA
(€C) 6Am~™ (D) 2.4Am” (C) 075A (D) 133A
Space For Rough Work

Physics



A long cylindrical wire of radius R

26. 29. The ratio of magnetic field at the
carries a uniform current I flowing centre of a current carrying circular
through it. The variation of magnetic coil to its magnetic moment is ‘x’. If
field with distance ‘r’ from the axis of the current and the radius both are
the “:‘fe {4 shown by i doubled. The new ratio will become

(A) 2x
@ AN ® | N (B) 4x
i i x
TReR L s Ry © 3
B4 B4 I x
D) 3
© :: (D) t,
,,R' r ,-R' ‘ 30. In a permanent magnet at room
temperature
(A) Magnetic moment of each

7. A cyclotr::)n is used to azcceierate molecule is zero.
protons (;H), Deuterons (;H) and (B) The individual molecules have
a-particles (;He). While exiting under non-zero magnetic moment
similar conditions, the minimum K.E. whlch-are all pcrf:ectly a?ngned.
is gained by (C) Domains are partially aligned.
(A) a-particle (D) Domains are all perfectly
(B) proton aligned.

(C) deuteron
(D) same for all 31. A rod of length 2 m slides with a speed
of 5 ms™! on a rectangular conducting

28. A paramagnetic sample shows a net frame as shown in figure. There exists
magnetization of 8 Am™' when placed a uniform magnetic field of 0.04 T
in an external magnetic field of 0.6 T perpendicular to the plane of the
at a temperature of 4 K. When the figure. If the resistance of the rod is
same sample is placed in an external 3 Q. The current through the rod is
magnetic field of 0.2 T at a temperature x X x x x x
of 16 K. The magnetization will be

32 x X X X X X
(A) FAm™! \ 2m
‘ X X X X X x
" S,
(B) §Aml x x X x X x
(C) 6Am™! (A) 75mA (B) 133mA
(D) 2.4 Am™! (C) 075A (D) 133A
Space For Rough Work
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32. The current in a coil of inductance 36. A light beam of intensity 20 W/cm? is
0.2 H changes from 5 A to 2 A in incident normally on a perfectly
0.5 sec. The magnitude of the average reflecting surface of sides 25 cm x 15 cm.
induced emf in the coil is The momentum imparted to the surface
o e by the light per second is
(C) 30V (D) 03V
(A) 2x10°kgms™!
33. In the given circuit the peak voltages (B) 1x10°kgms™
across C,Land R are 30 V, 110 V and 5 1
60 V respectively. The rms value of the (G
applied voltage is (D) 1.2x10% kg ms!
C L R
I ” | | i | 37. An object approaches a convergent
vV 1ov 60 V lens from the left of the lens with a
uniform speed 5 m/s and stops at the
@ focus, the image
(A) 100V (B) 200V (A) moves away from the lens with
) 70.7V (D) 141V an uniform speed 5 m/s.
(B) moves away from the lens with
34. The power factor of R-L circuit is % an uniform acceleration.
If the inductive reactance is 2 Q. The i Maina .away i i .lens e
, 3 non-uniform acceleration.
value of resistance is
(A) 2Q (B) \ﬁQ (D) moves .towards the lfms with a
1 non-uniform acceleration.
(C) 05Q (D) \ﬁ Q
38. The refracting angle of a prism is A
35. In the given circuit, the resonant and refractive index of material of
frequency is s A =
prism is cot . The angle of minimum
deviation is
0.5 mH = 20 pF (A) 180°-3A
(B) 180°+2A
(A) 1592Hz (B) 159.2 Hz (C)- 90" ~A
(C) 1592Hz (D) 15910 Hz (D) 180°-2A
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39. NS Ceami3nd WS dorsy P 42. oo'S 0F Aed nod Todeensd)
WOTDITY, SRR RORIITI Q. Aes ol =B ITCH IR TRT
Wm'mmmww 1.2 m aesbrioBod @ 2.4 mm 2P,
;n aaz:mdamas;mq SReTRy OP | um O 0% 1.5 SeEs Raum,of

e S oog B TOOTIFE T FPERY
sa; : ?; ; : DOBOLRET 3, 3e80rari A ITOS s
€030 o, Teoesenches.
s o 40T DO, AR, 36800
i DR TG, LOTODE STRRIR) ?
2 (A) 2mm  (B) 0.5mm
P (C) 0.125mm (D) 0.25 mm
3:—12 cm—rl
’ 43.  FeorscdOmis H-ee0ds o oF i@l
(A) 12cm  (B) 24cm de_;’ : ol
(C) 36cm (D) 48cm roglie SSCXOTRY N3,
(A) 03A  (B) 33A

40. P, P, %) P; Seth gbacdmeinvity (C) 626A (D) 10A
eIV TR eEnen - IRRTeSTN .
QORNS, P, 3 P, 3, 45° derg | 4 T “ima:mm "’;’i«lw d’;;

opsde
S8 P, 353 P, ¢, 45° oeisgs. 128 e e R L
)
W2 Bdoded GhOEckrRes wees R i, N Rl
30805y P, e emmenteord, P, oo WP 00BN TR 1), 1y, 13 ©Y
BATRICHS I8 30500 T, 2008 X ? 300, Jrws 1, 2 DD 3 §
x]
(A) 128 Wm=2 (B) 0 8,30N I, 8T, et
N
(C) 16Wm? (D) 64Wm™ ST
Q7

41, 2UB Fownvsy 3.14 m TROBY &
QORONG. TRII 84S FFYon 208 .
I minute of an arc. ROX > FRCOCH e

minute o c: 0;5;9 ), A) v,=1, 5 1, =1,
& QuBe  sowneRy  IEoN
ROt EXLETD 9 B N RRE Ll
(A) 108km (B) S5.4km ©) yn=rn=xR 1=
(C) 18m (D) 376m D) Y,=1, 3R, =1,
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39. The following figure shows a beam of 42. In Young’s Double Slit Experiment,
light converging at point P. - When a the distance between the slits and the
concave lens of focal length 16 cm is screen is 1.2 m _a“fl the distance
introduced in the path of the beam at a between the two slits is 2.4 mm. If a
place shown by dotted line such that thin transparent mica sheet of thickness
OP becomes the axis of the lens, the 1 pm and RI 1.5 is introduced
beam converges at a distance x from between one of the interfering beams,
the lens. The value of x will be equal to the shift in the position of central

: bright fringe is

i (A) 2mm (B) 0.5mm

Oﬁ? ; (C) 0.125mm (D) 0.25 mm

|

|

E‘_lzcm_'l 43. The de-Broglie wavelength associated
(A) 12cm (B) 24cm with electron of hydrogen atom in this
(C) 36cm (D) 48cm ground state is

(A) 03A (B) 33A

40. Three polaroid sheets P, P, and P, are (C) 626A (D) 10A
kept parallel to each other such that the
angle between pass axes of P, and P, is 44. The following graph represents the
45 snid thit Betveea PP, is 45°. variation of photo current with anode

: $ 3 potential for a metal surface. Here I, I,
If unpolarised beam of light of _ 5
intensity 128 Wm is incident on P,. and 1, represents intensities and y,, v,
What is the intensity of light coming Y; represent frequency for curves 1, 2
out of Py ? and 3 respectively, then

r
(A) 128 Wm?2 (B) 0 -
(C) 16 Wm=2 (D) 64 Wm Q7
©)

41. Two poles are separated by a distance e P
of 3.14 m. The resolving power of A = 45 ot R
human eye is 1 minute of an arc. The &) 7~ p gl wl

~ maximum distance from which he can (B) 7,=y1;andl, =1,
identify the two poles distinctly is ©) y,=y,andI, =1,
(A) 108km (B) 54km
(C) 18m (D) 376m (D) v,=r1;and], =14
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45. H-0r0d8 nh sdodd aomodch 48. SO TFpEPIYIY 10 nm TROTY,
QTR PR noPY NI IR QOXNG. F, &) F, ene Suoas
o v e o TOSRER WO (VRFoDT wo)
(A) 1112 DI TWodecH WUTNGY,, SNV
®) 3 BRI Borogs,
3
Eg; ::a.bed BTOONITNG, (8- Fo Tt ¥
(B) F,>>F,
46. H 0003 greeod rsozsen%'—‘(h TROT I © F <<k
m (D) F, &% F, n¢ I3 o
A0008) BT, T0 BussE (K.E.) aPe, e ﬁ:.)c;asa o
(A) 435eV  (B) 1.51eV BTN
(C) 34eV (D) 68eV
47, Seroon WORIHS o sy dndady | P o e
URT 3% DY 82 SHANT. et (A) ORI s 1
ZReoaThs W3, A, B 02 C yons WRRBIRRIZT.
TRAT I BIPORS  AednvRY (B) =smnde 80, § DRBOS
ZRe0TDNT. o Beanty Roas, o o ﬁ BRNECIRAE.
(C) SR EHTRQTS R, 0,5
E.::) . AR o ToSFSheom
€ —t—o WRRBCIRRIIS.
(D) RRICHIIQDLS 3, eem,
(A) B' 30 FmNS % C 3, o ARG .
RORENGS. WRRBEIRRIIS.
(B) A' 39, nogmnd w3 C' 39,
- BAFFONS. 50. 2000 SeRodR DITE WROTRONS STF
(C) A' 3Q RIS DR B' 3, votom, 15 IRFNS. 30 IRFT
MOoNG. Eason®) ¢VecIR Gormed
(D) C 39 RFWNE & B' 39,
ORI, (A) 025 (B) 0.5
(©) 0.75 (D) 0.85
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Two protons are kept at a separation of

45. The period of revolution of an electron 48.
revolving in n® orbit of H-atom is 10 nm. Let F, and F, be the nuclear
proportional to
(A) n? force and the electromagnetic force
1 between them
®) -
A) F_=F
© o e
(D) Independent of n B). . F,>>F,
46. Angular momentum of an electron in (C) F <<F,
o R
hydrogen atom is 5a (h is the Planck’s (D) F,andF_differ only slightly
constant). The K.E. of the electron is
(A) 435eV (B) 1.51eV
(C) 34eV (D) 6.8eV 49. During a f~ decay
d 3 (A) an atomic electron is ejected.
47. A beam of fast moving alpha particles
were directed towards a thin film of (B) an electron which is already
gold, The put A L ot present within the nucleus is
transmitted and reflected beams ;
corresponding to the incident parts ejected.
A, B and C of the beam are shown in :
the adjoing diagram. The number of (C) A neutron in the nucleus decays
alpha particles in emitting an electron.
(D) A proton in the nucleus decays
:'_:..___._) emitting an electron.
e o,
50. A radio-active element has half-life of
c 15 years. What is the fraction that will
(A) B v\-nll be minimum and in C decay in 30 years ?
maximum .
(B) A' will be maximum and in C' (A) 0.25
minimum
(C) A' will be minimum and in B' B) 05
maximum (C) 0.75
(D) C' will be minimum and in B'
maximum (D) 0.85
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51.

52.

53.

wom 220 V A.C. o’y A =3 B
WOTDNE  FAF  ATF  oBUnY
doeRIeRnd. oood C 3 wHoQ
Fpedeer' VI IS 7

™
C'LV=?

T

(B) 110V
(D) 2202V

Ae

220V
AC

B* ‘
(A) 220V

(€ 0

Bt 2ReONTHT T THBVTY,
P Q3 8d:
1

0 Q
(A) P=1,Q=0 (B) P=0,Q=1
(C) P=0,Q=0 (D) P=1,Q=1

Slerphst [alloen] m{i elelaf~)
(A) fadnﬁpzs T3 srosnend.

(B) goemdow® wopslon wdm 25

mgs WERT w0 Horios Jons
(229).

(C) =¥ 'adua“pa 70 B, ‘

(D) %3N FAAT Bed

54.

OB IIRT0IT JeTT  JoINTRY
2 d TROhoT WemrARORNE. essynied
TN BRCWDLTIT DIVY 4T o8
TDTT DT TIoBSH,  Beod.

xx' Boed8 ToFR,T WEHTHODL

FUNS CIRT T, FF XIS ?
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51. A 220 V A.C. supply is connected 54. Two long straight parallel wires are a
between points A and B as shown in
figure what will be the potential
difference V across the capacitor ? - equal currents flowing out of the plane

Ae u _I_ of the paper. The variation of magnetic

distance 2 d apart. They carry steady

220V c

V=29
AC T

B:
(A) 220V
(B) 110V
() 0

(D) 220\2V

field B along the line xx' is given by

52. In the following circuit what are P and

Q:

P

0 Q
(A) P=1,Q=0
(B) P=0,Q=1
(C) P=0,Q=0
(D) P=1,Q=1

53. A positive hole in a semiconductor is
(A) an anti-particle of electron.

(B) a vacancy created when an
electron leaves a covalent bond.

(C) absence of free electrons.

(D) an artificially created particle.
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57.

womd  AdomoB 3o Zodcd  TRd
(0.3 £0.003)g, &%, (0.5 £ 0.005) mm
B g (6 £ 0.06) cm. wWY
OTECD o wvokRs  noX
FeDmmoth BREE O, ?
Aa) 1 B) 2
© 3 (D) 4

2,000 et ANHTYHT FTeso?
DY ASCLOTETN, LT SoLJeoney
DOy Bo@ONGED 20 sec.
ooy, oxdeuct WO
oIH  JPo D, Hedow
Ifcdeod o 30 sec. ©AD.
SRPenss'  dosidodQmen  of
o3 LoneRy HTwd SRLERWE TEoD

(A) 25sec
©

(B) 60 sec
(D)

12 sec 10 sec

COWEON  WethETHT  FYoD  Fenay
12 ms™! 8. wadF TGP0 PR

BOT B YrBQREA, 12 ms™! wITY,

58.

59.

60.

2000 oS0 evg F Shd), & Jodod
2OmD DDOCHI) 098 ‘m’ QWT womd
Beof K adgomd DDOODIY Syt
BBERNRE et T 3TN,
v’ Benod, ¥R,
Slplevciag

393 W0y, ¢
F0oT 00O WD WO
(T 3osoDQTOS zk*d)

(C)T+ vz

(A)T(B)T— (D)0
WOTD WY T, TOPEY, womncb
030 womd LT, e:t:b kd

dmesﬂrdc}_, BWOMITE. ‘1 wow

TTONTY, BRBOL T, TS SROTERY

(A) t12 B) t(C) 7 (D) ¢

word  IFoh Aded  WPRERTE
eI ol Tododw 2 kg vm) wwRy X-Y
Bong, W3 Beeorm ot
JBOONG. x-SBT WY STT 1B ST,
I, = 0.2 kg m? D y-£80 28 ©no
w@% DB, [ = 0.3 kg m? «nd.
O Swews Trd Beerds Tone et

WODImRY. IV BRAERYLD COWIADE @88 X3 Seod
“h - e

- o i BRIO LD ond.
SBoeTn3T ? Xz :
(A) 30° pIFT 38K iy
(B) 45° e sirt B s
(€) 30° TR virt y

45° 7 sa@n (A) 50 cm (B) 5cm
® 2 (C) 387cm (D) 3l.6cm
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55.

57.

A cylindrical wire has a mass
(0.3 £ 0.003)g, radius (0.5 £+ 0.005)
mm and length (6 = 0.06) cm. The
maximum percentage error in the

measurement of its density is
A) 1 B) 2
© 3 (D) 4

At a metro station, a girl walks up a
stationary escalator in 20 sec. If she
remains stationary on the escalator,
then the escalator take her up in 30 sec.
The time taken by her to walk up on
the moving escalator will be

(A) 25sec (B) 60 sec
(C) 12sec (D) 10sec

Rain is falling vertically with a speed
of 12 ms~!. A woman ridés a bicycles
with a speed of 12 ms™! in east to west
direction. What is the direction in
which she should hold her umbrella ?

(A) 30° towards East
(B) 45° towards East

(C) 30° towards West

(D) 45° towards West

58. One end of a string of length ‘/’ is
connected to a particle of mass ‘m’ and
the other to a small peg on a smooth
horizontal table. If the particle moves in
a circle with speed ‘v’, the net force on
the particle (directed towards the centre)
is : (T is the tension in the string)

A) T (B) T—-#

(©) T+5’1,ﬁ (D) 0

59. A body is initially at rest. It undergoes
one-dimensional motion with constant
acceleration. The power delivered to it
at time ‘t’ is proportional to
VA el (B) t
(C) t” (D) t?

60. A thin uniform rectangular plate of
mass 2 kg is placed in X-Y plane as
shown in figure. The moment of inertia
about x-axis is I, = 0.2 kg m? and
the moment of inertia about y-axis is
I, = 0.3 kg m?. The radius of gyration
of the plate about the axis passing
through O and perpendicular to the

plane of the plate is
Az

kep

A7y

y
(A) S50cm (B) S5cm
(C) 387cm (D) 31.6cm
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